March 12, 2019

% Cheek. anmswers @UGSJH'O(’%

L up — > Letneku
%\i@ Sc\)\\ﬂ‘lb\ni O,bdf\’HW

v — >
S = 07
N
. - = (-0F
-7 g
_ - S VAN
Ry =l TS
_ =X X




March 12, 2019

S

a) The equation of the parabola is: ﬂ

b) Determine the equation

of the line: j = XN+S

c. Use your graph to solve
x+5=1(x+3)2-2.

X= "5
o=

d. Use your graph to solve the@
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e. Use your graph to solve the inequality@<@ 2.
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f. Use your graph to solve %(,\' +3)2-2=0.
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There is no obvious choice for the dependent
and independent variable. The decigion i

arbitrary.
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The market has changed, and Otto can now make $2 for each
truck but only $1 for each car. What is his best choice for the
number of cars and the number of trucks to make in this
situation? How can you be sure? Explain.

((‘QYS) Frucks) Jrobit
(5 4 1(3) +2(+) =]
- 1(3) +2(2) = 7
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4 83, 85,95, 97




